A =) # = £ z
No. 1
I7E-#E g g =® REtHE| B4 k=3
<txI>
21.8 + 25.7=  41.5 47.5 48
KiEY /NERFE BHO. 28m3 m3
38 + 08= 4.6 4.6 5
KiEY AA m3
7.2 + 14.4= 21.6 21.6 22 JREL
BREL /NERFE BHO. 28m3 m3
1.9+ 0.1= 2.0 2.0 2 JREL
BREL AR m3
47.5 % 09- 21.6=  21.2 21.2 21
TR EER 4t 1=0. 2kmLLF m3
21.2 21.2 21
Eh m3
<GHET >
18.1 18.1 18.1
REEEIF M-30 t=3cm m2
12.8 12.8 12.8
BiET M-30 t=7cm m2
BEZFRETAIVIS 30.9 30.9 30.9
=RE t=4cm m2
<EEYMI>
W800 1.0 1.0 1 L=6. Om
KR T 24-12-25BB =
1.0 1.0 1
VERET 18-8-40BB =
3.6 3.6 3.6
2Y1-LT 184 B#zB800xH750 m
1.0 1.0 1
7Y1-LT 284 B#2B900«H800 m
1.0 1.0 1 L=2. Om
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RIREEEAE ¢ 100 hE R &t Z
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T hiEA 21.0 21.0 21
FHEEMERE Gr-C—-4E m
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590+ 4.70= 10.60 10. 6 11
SRR U BR Ast=15ecmLLF "
37.2 37.2 37
SRR INRAE t=5emLL T m2
3.2 3.2 3
EEYERIEL &\ OAA m3
37.2 % 0.04=  1.49 1.5 2
FRIE % As 2t 28.5kmLLF m3
3.2 3.2 3
OB Co 2t 22.9km m3
1.5 1.5 2
BRER As m3
3.2 3.2 3
BRER Co m3
<{REET>
1.0 1.0 1
Ry FiEaEE NORZ |F v7° O&50mm &3
= EEHEK 20.0 20.0 20
o TBER AFE |0LLE6m3/hk i (50%1) =
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JL—FoF&EB= 0130
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d lo. o 4 bl g
' " = iy E
$FavHY-+ 1.310 X 1.200 X 6.000 = 9432
24-12-25BB - 0930 X 0800 X 6.000 = -4.464
- 0130 X 0920 X 6.000 = -0.718
= 4250 | m®| 43
5y L ( 1310 + 1.180 )X 6.000 x 20 = 2988 | m’| 299
5'L-F9 Z(B800) FENE 800 T-25 1WA T@EAB /VAYy7 2#4 1=1000 = 60| # | 6.0
ER8%m(D13) BEXSE = 1184 t | 0.12
ER8%m(D16) = 1743 t | 017
#1391 —h(18-8-40BB) 1400 x 0.100 X 6.100 = 08 |m’| 09
3] BEiLE A 0100 X 2 X 6.100 = 122 [ m?| 12
H A (RC-40t=200) 1400 X 6.100 = 854 |m’| 85
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5 # 2 at Bl % =
mAsIvYY-r18-8-408B)| ( 0.300 + 0580 )=2x 1400 x 1.500 =  0.924
( 0300 + 0600 )=2x 1500 X 1.000 = 0675
((C 0400 + 0588 )=2x 1250 + 0.300 x 0.888 )
+(( 0400 + 0603 )=2x 1350 + 0300 X 0903 ))
—2x 5.000 = 4580
( 0900 + 1.400 )=+2x 3.820 X 0.150 = 0659
50
I P78
( 0300 + 0360 )=2x 0.300 x 0.300 = -0.030
(( 0400 + 0550 )=2x 1.000
+( 0400 + 0548 )=2x 0984 )=2x 0.800 = -0377 | m*| 64
INEY R ( 1.020 x 1400 + 1400 )X 1.500 = 4242
( 1020 x 1500 + 1500 )X 1.000
+( 0300 + 0360 )=2x 0300 X2+ 0360 X 0300 = 3.336
(C 1.011 x 1350 + 1.350 )
+( 1011 x 1250 + 1.250 ))/2x 5.000 = 13.072
( 0400 + 0550 )=2x 1.000
+( 0400 + 0548 )=2x 0.984
+( 0550 + 0548 )=2x 0.800 = 1.381
( 5000 + 4400 )x 0.300 = 2820
( 0400 + 0588 )=2x 1250 + 0.300 X 0.888
+( 0400 + 0603 )=2x 1350 + 0.300 X 0.903 = 1.832
5o
I P78
( 0984 + 1.000 )*+2x 0800 x2
+ 0300 X 0300 X2 = -1.767| m?| 249
EERARC-40t=200)| ( 1.603 + 2088 )=2X 5200 = 9597 | m’| 96
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IV —FUED2—h BF4B800xH750 t=1.6  10.00 = 1.000 = 100 | & | 100
ER8%m(D19) 10.000 = 1.020 X 2 x 1.000 x 2250 = 44118 | kg | 441
t | (0.04)
HELEAS(#10) 10.000 = 1.020 X 2 x 0.030 = 0588 |kg| 06
EETDS 05%x0.3%x0.1 FEF BT 10000 = 0500 x 2 = 40000 | % | 400
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V
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£& 1.5m
%2 W it g = Hfl#H 2
SEAMNT B1200 X L2000 x H500 200 m| 20
FEFR(¢15~20cm) 1.20 X 2.00 X 0.500 X 0.95 114 [ m*| 1.1
wm *O 9cm £& 1.5m 200 | & | 20
0% tH LA LB #4 t=10mm 10kN/m
LU 05x1.2x2=12
JEE 1.2%20=2.4
=m| 0.5x2.0=1.0 492 | m*| 49

&t (1.2+2.4+1.0) x 1.07(AR)
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ARV - 030 x 08 = 024 | m°
004 x 12 =  005|m®

0129 / 235 X 120 = 007|m®

052 X 570 = 296 |m®
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030 x 030 x 0.30 =  -003| m®
030 X 030 X 314 x 030 =  -008/ m®

&5t = 321 |mt




r**E 2000
Sl 0 BEEET L= 56 m
A= 5.1 m (5.2+4.9)/2
300 100 V: 5.6 x 5'1
V= 28.6 m
V= 28.6 - 6.8
V= 21.8
8 2500 1200 2300 i *ﬁ&ﬁ?kﬁ%l L: 5 7 m
T %E:iiﬁfﬁ}ﬁ{:yma)rm:m A: 45 m2
m / Bt ‘aa(m—au) =7 .0cn V= 5.7 y 45
T / ks V=257 n’
) LJ::LJ/ At
1600 Ji-hT L= 3.2 m
A= 1.2 mw
| | V= 3.2 x 1.2
l f B V= 3.8
JrohdI L= 2.5 m
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V= 2.5 x 0.3
[«)
o
— | § V=" 0.8
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5.9

0.0

3.9

8.3

18.1

5.90

5.75

5.95
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5.10
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0.00

5.20

5.50

5.50

0.00

0.00

5.30

5.10

5.9

39|

6.6

0.0

6.2

8.3

30.9

5.90

9.55

5.50

0.00

5.20

4.90

5.90

5.90

5.60

5.50

5.50

5.50

0.00

0.00

5.30

5.10

5.10

4.70

1.00

0.00

0.70|

0.00

1.20

0.00

1.20

0.00

1.20

0.00

1.70

7.00

0.00

No.O +

1.00

1.00

1.70

1.70

2.90

2.90

4.10

+

4.10

+

5.30

5.30

7.00




